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Instruction : Use of Scientific Calculator is allowed.

1. (A) Find the Median and mode of monthly earnings for the followi

Monthly 0-200 | 200-400 | 400-600 | 600-800 4 80
earnings (in )

1000-1200

Frequency 80 165 230 13
(B) You take a trip which entails travelling 900 an average speed of
60 m.p.h., 300 miles by boat at an average 400 miles by plane at 350

m.p.h. and finally 15 miles by taxi at our average speed for the

entire distance ? 7
(A) Calculate Mean and Median ing data : 7
X | Less than _ ess than 30 | Less than 40 | Less than 50
o ) 5 55 75 100
ble gives the number of students in different age-
median of the distribution is 11 years, find the missing
7
5-10 | 10-15 | 15-20 | 20-25 | 25-30 | Total
125 ? 66 ? 4 300
te the mean deviation from mean and its coefficient of the marks of 39
s in Statistics given below : 7

Marks 0-515-10] 10-15 | 15-20 | 20-25 | 25-30
No. of Students 4 6 8 12 7 2
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(B)

Calculate Standard deviation and its coefficient of variation from the following
data : . 7

Class 0-5 | 5-10 | 10-15 | 15-20 | 20-25
Frequency | 4 1 10 3 .

OR
The mean and Standard deviation of 200 items are found to be 60 and 20

respectively. If at the time of calculation, two items were wrongly recnrded'_'i

and 67 instead of 13 and 17, find the correct mean and Standard deviation

Following are the observations showing the one-day sales of a shopping m

we need to calculate the quartile deviation and coefficient of quartile d n
Ageinyears | 40-44 | 45-49 | 50-54 | 55-59
Customers 5 8 11 10

A bag contains 8 blue balls and 6 black balls. Three b
(i) with replacement and (ii) without replacement

tis robability that all

the 3 balls are black ? 7

In a bolt factory, machine A, B and C mar percent, 35 percent and 40

percent of the total output respectively. f their output, 5, 4 and 2

percent are defective bolts. A bolt i and found to be defective. y

What is the probability that it was achine B ? 7 f'}
\

The incidence of
suffer from it. l‘

(1) exactly 2 worker

disease. 3
A machin s, A, B and C, whose chances of being defective are
0.02, 0 > respectively. The machine stops working if any one of the
ctive. What is the prnh'ability that the machine will not stop

;4
te correlation coefficient from the following data using Karl Pearson’s
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(B) The following data relate to the scores obtained by 9 salesmen of a company in an

intelligence test and their weekly sales (in ¥ 1000’s) : 7
Salesman : A{B|IC I D|EIFR | BIH| ]
Test scores 50 | 60 | 50 | 60 | 80 | 50 | 80 | 40 | 70 @ ‘
Weekly sales: 30 1 60 | 40 | 50 [ 60 | 30 | 70 | 50 | 60

Obtain the regression equation of sales on intelligence test scores of the salesme
If the intelligence test score of a salesman is 65, what would be his expec
weekly sales.

£ 4

OR

(A) Obtain the rank correlation coefficient between variable x and y fro
following pairs of observed values

x | 5055|6550 |55[60|50]65]70] 7
y [110[110 [ 115[ 125|140 [ 115|130 | 120 | 115

(B) Two random variables have the regression ‘equations : 3 = 0 and
6x+y-31=0.
Find (i) mean values of x and y and coefficient of.co etween x and y.

(1) If the variance of x is 25, then fin d deviation of y from

the data.

Attempt any seven. 14

(1) Ifall the values in a series are sa
(a) AM=GM.=H
(f} AM.>GM. >
(2) Ifa=5andb=-5,

AM. #GM. #HM.
) AM.<GM.<HM.

the onic mean is :

(@ -5 (b) 5
(c) 0 (d) o
(3) " origin 3 e 1s used for calculation of the :

) .Geometric Mean

(d) Lower and Upper Quartile
ispersed (spread out) set of data :

ce between the mean and median is greater

ie of the mode is greater

standard deviation is greater

inter-quartile range is smaller
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If the quartile range is 36 then quartile deviation is
(a) 18 (b) 36
(c) 24 (d) 72

Rohan bowled 7 games last weekend. His scores are : 155, 165, 138, 172, 127,
193 and 142. What is the range of Rohan’s scores ?

(a) 193 (b) 127

(c) 60 - (d) 66

If the regression equation is equal to Y = 23.6 — 54.2X, then 23.6 is
(-54.2) is of the regression line.

(a) slope, intercept (p) intercept, slope
(c) slope, regression coefficient ~ (d) radius, intercept
The genmemc mean of the twu-regressmn coefficient, bxy

@ r
(c) 1 (d) None of
There is a high inverse association between erweight’ and ‘life

expectancy’. A correlation coefficient consistent ¢ statement 1s :
(a) r=0.80
(c) r=-0.20

Mutually Exclusive events
(a) all sample points
(b) contain all com%

(c) ‘does not
(gl) does not on sample pomt

A bag con s and some blue balls. If the probability of drawing a
blue ball i a red ball, then the number of blue balls in a bag is :
(d 20

e are 8 red, 7 blue and 6 green balls. One ball is picked up randomly.
e probability that it is neither blue nor green ?

(12)
(5) 821
d) 9/22




